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T — FEfR 200 X 300 2B X 1 E] = 60,000 &t —E2AIME, BERE
FHNEE 90,000 | FIEE, & 3,000 X 1 it X 30 H = 90,000
EBETE 250,000| 7 >4 — b2 250,000 X 1 = X 1 # = 250,000 7> — b5
HEME 70,000 [H#Ed 5000 X 1 A X 12 A = 60,000

BHER 10,000 X 10,000
ME 24,000 2,000 X 1 A X 12 A = 24,000
20214 EE /5 1,438,000




BEEES 283,000[# K577 /A b 1200 X 1 Bm X 240 M = 288,000 £M30H
150000(FEZE (P& 15000 X 5 A X 2 B - 150000 WEEE. MEAE 77— DABSHE
HfEN 320,000|2E R ERRA 50,000 X 1 m X 2 @ = 100000 42M
FhHETE 20000 X 1 om X 6 @ = 120,000 420 SfEEARECHECHEE
REFEEESS | 100000 X 1 om X 1 @ = 100000
REZSRE 210,000| 2w 5000 X n A X 2 @ = 110000 F@=85 vH-%—6
%8 5000 X 1A X 20 B = 100,000
BEERE 46,000| £EFERRA 92 X 50  # X 2 B - 9,200
FhEETE 92 X 50 # X 2 @\ - 9,200
72— b 92 X 0 # X 1 @ = 27600 HY—CRAME BRE
FORIBLA 2 90,000| &2 B HEDRIE 200 X 5  # X 2 B = 20000
FhHETE 100 X 50 # X 2 B = 10000
72— b 200 X 0 # X 1 B = 60000 Hy—CRAME BRE
HHNER 30000[&FiER. B 3000 X 1 ®m X 10 @ = 30000
EHERA 250,000(7 > 7 — MUE 250000 X 1 ® X 1 # = 250000 75— o
ERRE 70,000| R 5000 X 1 7 X 12 B = 60000
SR 10000 X 1o X 1 # = 10000
e 24,000 2000 X 1 7 X 12 A = 24000
2022FE 1,478,000
adt 4,993,840

1) BOULIEBFELLOLS, ANTETT,
E2) ARV AVBEICIHERE, TEBALTIFACES L,
E3) EAYT 2B IEEBHGOUMBERTERL TV SE

BEARBE CEATEL,






